#### **GOVERNMENT OF KERALA**

# DIRECTORATE OF MEDICAL EDUCATION

# **GOVERNMENT DENTAL COLLEGE, ALAPPUZHA-688005**

#### TENDER NOTICE

#### TENDER NO.2/2025/GDCA

No.C/1323/2025/GDCA

Dated, 03/06/2025

Sealed and competitive tenders in the prescribed form are invited from the Manufacturers or authorized suppliers for the purchase of Dental Materials for the use Conservative Dentistry department in the Government Dental College, Alappuzha. details of equipment's will be issued along with the Tender forms.

The envelopes containing the tender should bear the superscription should be Late tenders will not addressed to the Principal Government Dental College, Alappuzha. be accepted.

All the participating Bidders/Authorized Dealers should clearly show their Bank Accounts and Bank's IFC code (bold letters) in an authorized Letterhead for payments through online.

The last date of Sale of Tender form 28/07/2025 -3.00 pm. The last date of the receipt of the Tender forms is 29/07/2025 - 4 pm. The tenders will be opened on 30/07/2025 11.00 am in the presence of the Bidders of their authorized representative who may be present at that time. Application for the tender form should be accompanied by a cash remittance which is the price fixed for a form/set of forms and which is not refundable under any circumstances. The tender forms are not transferable. Cheques, postage stamps etc, will not be accepted towards the cost of forms, nor will the forms be sent per V.P.P. Duplicate tender forms if required will be issued at half of tender cost per copy. Rate should be quoted in Indian rupees only. The tenders without the agreement in the Kerala Stamp Paper worth Rs.200/- & Earnest Money Deposit @ 1% of quoted rate and the tenders that do not satisfy the conditions are liable to be rejected without any notice. Cheque, Draft, Postage Stamps etc. will not be accepted towards the cost of the tender forms.

Stamp Paper will be supplied to the firms outside Kerala on request, along with the remittance of Rs.250/- (Rupees Two Hundred and Fifty Only) by Money Order taken in favour of the Principal, Govt.Dental College, Alappzuaha-688005.

Place: Vandanam Date: 03/06/2025.

SUPERSCRIPTION

Name of Item

Cost of Tender form

Cost of Tender form by post Cost of duplicate Tender form

Last date of sale of tender forms

Last date of sale of tender forms by post

Last date of receipt of tenders Date of opening tenders

Earnest Money Deposit

Estimated cost

PRINCIPAL

Govt. Dental College Alappuzha

SOVT: DENTAL COLLEGE

: Dental Materials for the use of Conservative

Dentistry Dept. : Rs.865+104= 969/-

: Rs.915/-

: Rs.432/-

: 28/07/2025 - 3.00pm

: 17/07/2025 -

: 29/07/2025 - 4 pm : 30/07/2025 - 11.00 am

: 1% of the total cost of the item.

: Rs.4,32,455/-

189	Articulating paper (Thick double sided Occolusionpaper, Double sided thick sheets (Red & Blue), Book of 20 papers (1 pack contains 10b ooks)	Conservative d	5 BOOKS	28	140
190	Bonding agent	Conservative d entistry	6gms(20) units	1,700	34,000
191	Calcium Hydroxide PasteRoot Canal,M edicametDentocal t ype		3 PACKS	. 120	. 360

			:		
1:	Calcium Hydron Paste - Dycal2 p e - base and cata t	ast Conservative	d 5 pack	300	1,500
19:	Calcium Hydroxi Powder Extra-fin Dental grade, 30 ms	e. Conservative	d `10 Bottle	40	400
194	Cavity Varnish Ha	Conservative de entistry	10 Packs	100	1,000
195	Cellophane strip Colour coded	Conservative d entistry	10 Packs	50	500
96	Cementpolycarbox ylate Powder & Liq uid kit 50gm, 16ml	Conservative d entistry	3 Pack	475	1,425

-			-		
197	Composite materia light cure,A1 Shad Universal,3gm syr nge- A1	e Conservative	6 Tubes	1400	8,400
198	Composite material light cure, A2Shade Universal	Conservative d entistry	10 Tubes	1,400	14,000
199	Composite material light cure, A3 Shade Universal.	Conservative d	6 Tubes	1400	8,400
000	Composite material light cure,B2 Shade Universal.	Conservative d	5 Tubes	1400	7,000
	Composite material				

20	light cure, A3-5 Sh de Universal, light- ured, radiopaque, n no-hybrid restorati e composite. Filtek ype. 3gmsyringe. A 3-5	a Conservative v entistry	d 3 Tubes	1400	4,200
202	2 Dental floss	Conservative entistry	d 2 Set	70	140
203	Dental plaster of Pa ris White fine pow der(Ramaraju type		1 2 Pack(1 Kg)	50	100
204	Disposablepaper cu p150ML	Conservative d entistry	3 (Bundle Of 100)	30	90
205	Disposable plastic s uction tips(pkt of 1 00)	Conservative d entistry	10(Pack O f 100)	200	2,000
206	EDTAgel15%EDT A.0%carbamideper oxide.	Conservative d entistry	3 Box (2 Tubes Eac h)	350	1,050

-				1	
207	Etchant/ etching g l/ 37% phosphoric acidBluegel.in syr nge, 5gm syringe	Conservative entistry	d 25 Syring e	130	3,250
208	EugenolArsenic fre e, Dental grade	e Conservative of entistry	l 2 Pack	150	300
109 al	lowable Composit ,A3 SHADEBend ble cannula Triang e finger plate and lunger. A3. Filtek type		10 Tubes	850	8,500
o FR	.C Post- Tenax 1. C	Conservative d 7	(Pack O f 5)	1600	11,200
FR	CPost-Tenax 1.3 C	Conservative d 4	(Pack Of 5)	1600	6,400

212	FRC Post- Tenax 1. 5TFT 1.5	Conservative d entistry	1(Pack Of 5)	1600	1,600
213	Glass Ionomer cem ent - luting type1G C Fuji Type-35g P owder +25g Liquid	Conservative d	1 box	1700	1,700
214	Glass Ionomer cem ent - restorative typ e9high strengthpost erior fujigc type 15 g powder,8gm liqui d	Conservative d	1.5 Packs	3000	45,000
215	Glass ionomer type II 15gm powder an d 10 ml liquid (Fuji Type)	Conservative d	20 Packs	2750	55,000

21	Gloves - Nitrile E. amnon- rubber	x Conservative dentistry	1 (Pack O f 100)	400	400
217	Greater taper gutta perchaMachine cut 04/20		2 Box	350	700
218	Greater taper gutta perchaMachine cut 04/25	Conservative d entistry	5 Box	350	1,750
219	Greater taper gutta perchaMachine cut. 04/30	Conservative d entistry	3 Box	350	1,050
220	Greater taper gutta perchaMachine cut. 04/40	Conservative d entistry	5 Box	350	1,750
	zinc oxide arsenic f ree powder 100 gm bottle	Conservative d entistry	10 Box	350	3,500

22	guttaperchapoint ssorted No: 45 - 1 (dentsply type)A orted No: 45 - 80 entsply type	80 Conservative	3 Box	200	600
223	Guttaperchapoint No:15	s Conservative entistry	d 5 Pack(Pa	1 21111	1,000
224	Guttaperchapoints No:20	Conservative of entistry	30 Pack(Pack Of 12		6,000
225	Guttaperchapoints No:25	Conservative d	30 Pack(P ack Of 12 0)	200	6,000
226	Guttaperchapoints No:30	Conservative d entistry	30 Pack(P ack Of 12	200	6,000
27	Guttaperchapoints No:35	Conservative d entistry	20 Pack(P ack Of 12 0)	200	4,000
28	Guttaperchapoints No:40	CHISCIVALIVE (II	20 Pack(P ack Of 12 0)	200	4,000
29 A	Guttapercha points Assorted No: 15 - 4		20 Pack(Pack Of 12	200	4,000

	0 (dentsply type), 1 pkt of 120	entistry	. 0)		
230	Guttapercha solven t Oil of Orange	Conservative d entistry	1 Bottle	550	550
231	IRM -Dentsply - Pk t of powder and liq uid	Conservative d entistry	1 Packet	1800	1,800
232	LignocainegelIP2% ( W/W	Conservative d entistry	2 Tubes	35	70
233	Lubricating spray f or ball bearing turbi nes cavitere and spr ay tip	Conservative d entistry	3.	500	1,500
234	Mc IntoshsheetRed / green, thick, 10 m etre roll	Conservative d entistry	1 * 10 Me ter Roll	450	450
	Modelling WaxNo.	Conservative d			

5	2- Hindustan type	entistry	3 Packet	85	255
36	Resin based root ca nal sealer2 paste sy stemintubesAH plu s type	Conservative d	1 Tube	4000	4,000
231	Resin Cement (core build up type)Parac ore type dual cure, slow set	Conservative of entistry	l 1 Pack	10000	10,000
2:	Sodium Hypochlor te3-5% for root ca alirrigation, 500 m	n entistry	d 2 Bettles	150	300
2	zinc phospate cen nt gc type	ne Conservative entistry	e d 5 Box	2950	14,750
	Vaseline/ Petrola m White/clear ty 500g	pe, Conservative entistry	ve d 2 Plasti ar	c J 200	400

			*		1 1 2 2 1 m
241	Cement readymade temporary Orafil G type	Conservative d entistry	10 Units	250	2,500
242	zinc oxide arsenic f ree powder 100 gm bottle	Conservative d entistry	2 Pack	60	120
243	opaquer 4gm (OA 2 SHADE COMPO SITE)	Conservative d entistry	2 Tubes	1500	3,000
244	GPpointssize45	Conservative d	1 Pack(Pa ck Of 120)	200	200
245	GPpointssize50	Conservative d entistry	1 Pack(Pa ck Of 120)	200	200
246	GPpointssize55	Conservative d entistry	1 Pack(Pa ck Of 120)	200	200
247	Disposable microap plicator brush	Conservative d entistry	3(Pack Of 100)	300	900

th alumin	retraction knitted wi ium chlori e)	ervative d	2 pack	720   1440
Protaper NE t canal treatmes, 21 mm, fd  257 Hand plugg	nent fil Conserva assorte entist  conservative	ve d Assorta	d s	18,500
	-40 Conservative entistry	et of 6	1750	3000
259 K file28 mm(15-	40 Conservative entistry	d 10 Box	200	2,000
260 K file 31 mm(15-2	entistry	5 box	200	1,000
261 K file31mm(45 -80	entistry	5 box	200	1,000
262 K file90-140(25m m)	Conservative d entistry	1 box	200	200

-					
20	K file25mm (No.	0 08 Conservative entistry	e d 20 box	200	4,000
26	K file25mm (No	10 Conservative entistry	d 40 box	200	8,000
26	K file25mm(No	06 Conservative entistry	d 6 box	200	1,200
26	6 K file 25mm(No	15 Conservative entistry	d 20 box	200	4,000
267	Polishing bur TF 2 EF	1 Conservative of entistry	5 NOS	300	1,500
268	Protaper rotary fills assorted 21 mm	le Conservative of entistry	2 box	1600	3,200
269	Protective goggles	Conservative d entistry	3 set	200	600
270	Saliva Ejector / Suction tips	c Conservative d entistry	10(100pac	200	2,000
71	Scissors(stainless st	Conservative d entistry	5 set	400	2,000
72	Self Etch bonding	Conservative d	1 bottle	2500	2,500

		Agent	entistry	1		
27	73	Stainless steel glas	Conservative entistry	5 set	45	225
27	74	Sterilization heating coil	Conservative entistry	d 2 nos	150	300
27:	5	Teflon tape	Conservative entistry	d 1 roll	200	200
276	5	Fofflemire Retaine r with matrix	Conservative of entistry	d 5 nos	400	2,000
277	V	Vedges assorted w ooden	Conservative d	5(packet of 100)	250	1,250
278	V	Vedges plastic ass orted	Conservative d entistry	5(packet o f 100)	50	250
79	Msp	outh mirror ( top plain pack GDC t ype)	Conservative d entistry	10 (pack o f 12)	730	7,300
30	Mo e	outh mirror handl C esb GDC type)	onservative d entistry	20 nos	200	4,000
1 h	Mo	uth mirror with dle, RELAX ty	onservative d 2 entistry	(pack of 10)	700	1,400

	pe				
282	Root canal re treat ment files 21 mm		2 (pack of 6)	3500	7,000
283	Polishing bur EX - 21 EF	Conservative d entistry	5 NOS	300	1,500
284	Diamond Burs Tf 1	Conservative d entistry	10 NOS	100	1,000
285	Diamond Burs Rou nd Br 45	Conservative d entistry	10 NOS	100	100
286	Mercury For Amal gam Mix	Conservative d entistry	5 nos	700	3,500
287	Tungsten Carbide Endo Z Bur	Conservative d entistry	: 3 NOS	600	1,800

-

# **GOVERNMENT OF KERALA**

# DIRECTORATE OF MEDICAL EDUCATION

# GOVERNMENT DENTAL COLLEGE, ALAPPUZHA-688005 TENDER NOTICE

#### TENDER NO.3/2025/GDCA

No.C/1377/2025/GDCA

Dated, 03/06/2025

Sealed and competitive tenders in the prescribed form are invited from the Manufacturers or authorized suppliers for the purchase of **Hydrosolider** for the use **Orthodontics** department in the Government Dental College, Alappuzha. The details of equipment's will be issued along with the Tender forms.

The envelopes containing the tender should bear the superscription should be addressed to the Principal Government Dental College, Alappuzha. Late tenders will not be accepted.

All the participating Bidders/Authorized Dealers should clearly show their Bank Accounts and Bank's IFC code (bold letters) in an authorized Letterhead for payments through online.

The last date of Sale of Tender form 28/07/2025 -3.00 pm. The last date of the receipt of the Tender forms is 29/07/2025 - 4 pm. The tenders will be opened on 30/07/2025 11.30 am in the presence of the Bidders of their authorized representative who may be present at that time. Application for the tender form should be accompanied by a cash present at that time. Application for the tender forms and which is not refundable remittance which is the price fixed for a form/set of forms and which is not refundable under any circumstances. The tender forms are not transferable. Cheques, postage stamps etc, will not be accepted towards the cost of forms, nor will the forms be sent per V.P.P. Duplicate tender forms if required will be issued at half of tender cost per copy. Rate should be quoted in Indian rupees only. The tenders without the agreement in the Kerala Stamp Paper worth Rs.200/- & Earnest Money Deposit @ 1% of quoted rate and the tenders that do not satisfy the conditions are liable to be rejected without any notice. Cheque, Draft, Postage Stamps etc. will not be accepted towards the cost of the tender forms.

Stamp Paper will be supplied to the firms outside Kerala on request, along with the remittance of Rs.250/- (Rupees Two Hundred and Fifty Only) by Money Order taken in favour of the Principal, Govt.Dental College, Alappzuaha-688005.

PRINCIPAL.

Place: Vandanam Date: 03/06/2025.

SUPERSCRIPTION

Name of Item

Cost of Tender form

Cost of Tender form by post Cost of duplicate Tender form

Last date of sale of tender forms

Last date of sale of tender forms by post

Last date of receipt of tenders
Date of opening tenders

Earnest Money Deposit

Estimated cost

Govt. Dental College Alappuzha

: Hydrosolider for the use of Orthodontics Dept.

: Rs.400+48= 448/-

: Rs.498/-

: Rs.249/-

: 28/07/2025 - 3.00pm

: 17/07/2025 -

: 29/07/2025 - 4 pm

: 30/07/2025 - 11.30 am

: 1% of the total cost of the item.

: Rs.1,34,000/-

@1303529

# Department of Orthodontics, Govt. Dental College, Alappuzha 1369/25 List of Equipments for 2025-2026

·	Sl no	Item	Specification	Quantity	Rate per unit	Total cost
37/25 encled so.3	1	Hydrosolder	Hydrogen soldering auto machine with gas controlling torch, rubber pipe, nozzles, welding pad, pressure guage, metal torch and lighter stand. Connection voltage:	1	1,34,000	1,34,000
575 25	2	Dental lab  Micromotor hand  piece with control unit	Dental lab Micromotor hand piece with control unit	5	8,000	40,000
37925	3	Heavy duty lab  Micromotor with  Heavy duty hand  piece(Marathon  brushless Micromotor  Multi 600,multi  switching function)	Heavy duty lab  Micromotor with Heavy .  duty hand  piece(Marathon  brushless Micromotor  Multi 600,multi  switching function)	1	50,000	50,000

Total - 224000



#### **GOVERNMENT OF KERALA**

# DIRECTORATE OF MEDICAL EDUCATION

#### **GOVERNMENT DENTAL COLLEGE, ALAPPUZHA-688005** TENDER NOTICE

#### TENDER NO.4/2025/GDCA

No.C/1378/2025/GDCA

Dated, 03/06/2025

Sealed and competitive tenders in the prescribed form are invited from the Manufacturers or authorized suppliers for the purchase of Dental Materials for the use Pedodontics department in the Government Dental College, Alappuzha. equipment's will be issued along with the Tender forms.

The envelopes containing the tender should bear the superscription should be addressed to the Principal Government Dental College, Alappuzha. Late tenders will not be accepted.

All the participating Bidders/Authorized Dealers should clearly show their Bank Accounts and Bank's IFC code (bold letters) in an authorized Letterhead for payments through online.

The last date of Sale of Tender form 28/07/2025 -3.00 pm. The last date of the receipt of the Tender forms is 29/07/2025 - 4 pm. The tenders will be opened on 30/07/2025 2.30 pm in the presence of the Bidders of their authorized representative who may be present at that time. Application for the tender form should be accompanied by a cash remittance which is the price fixed for a form/set of forms and which is not refundable under any circumstances. The tender forms are not transferable. Cheques, postage stamps etc, will not be accepted towards the cost of forms, nor will the forms be sent per V.P.P. Duplicate tender forms if required will be issued at half of tender cost per copy. Rate should be quoted in Indian rupees only. The tenders without the agreement in the Kerala Stamp Paper worth Rs.200/- & Earnest Money Deposit @ 1% of quoted rate and the tenders that do not satisfy the conditions are liable to be rejected without any notice. Cheque, Draft, Postage Stamps etc. will not be accepted towards the cost of the tender forms.

Stamp Paper will be supplied to the firms outside Kerala on request, along with the remittance of Rs.250/- (Rupees Two Hundred and Fifty Only) by Money Order taken in favour of the Principal, Govt. Dental College, Alappzuaha-688005.

Place: Vandanam Date: 03/06/2025. SUPERSCRIPTION

Name of Item

Cost of Tender form

Cost of Tender form by post Cost of duplicate Tender form

Last date of sale of tender forms Last date of sale of tender forms by post

Last date of receipt of tenders

Date of opening tenders Earnest Money Deposit

Estimated cost

: Dental Materials for the use of Pedodontics Dept.

: Rs.400+48= 448/-

: Rs.498/-

: Rs.249/-

: 28/07/2025 - 3.00pm

: 17/07/2025 -

: 29/07/2025 - 4 pm : 30/07/2025 - 2.30 pm

: 1% of the total cost of the item.

: Rs.1,64,615/-

C.I				Rate/Unit	Amount
Sl. No	Name Of Item	Specification	No. of Units	(In Rs)	(In Rs)
1	Alginate impression material	Algitex type. Packet of 750g, Dust-free	20pkts	245	4,900
2	Alginate impression material	Algitex type, Jar containing  1.125 Kg powder, dust-free.	15jars	640	9,600
3	Bonding agent	Nano technology dental adhesive (Prime & Bond like) 3.5 ml bottle	2	2,200	4,400
4	Calcium hydroxide paste	Dycal -Standard package- Ivory shade Catalyst paste 11g Base paste 13 g	2	1700	3,400
5	Calcium Hydroxide powder	8 gm bottle	2	- 50	100
6	Calcium hydroxide, Iodoform paste	Silica oil-based- Primary tooth Root canal filling material (Metapex type) Pack of 2 syringes of 2.2 g each.	2	1700	3,400

7	Cellophane strips	Colour coded- yellow Light permeable Mylar strips for composite restorations- pack of 200 pieces	1 pkt	175	175
8	Composite material light cure	A1 Shade Ivoclar Type.3g syringe- A1	Í	800	800
9	Composite material light cure	A2 Shade Ivoclar type	2	800	1,600
10	Composite material light cure	A3 Shade Ivoclar type	1	800	800
11	Composite material light cure	B1 Shade Ivoclar type	. 2	.800	1,600
12	Composite material light cure	B2 Shade Ivoclar type	- 2	800	1,600

13	Cement Readymade Temporary - Orafil- G	Orafil-G premix 40 gms is Zinc oxide-based.	10	220	2,200
14	Cold Cure Acrylic Resin Powder- Clear	Acrylic Resin Powder- Clear	4	400	1,600
15	Cold Cure Acrylic Resin Powder- Pink	Acrylic Resin Powder- Pink	1	400	400
16	Dental floss-	Unwaxed- 50 m long	2	90	180
17	Dental stone	Type III in an airtight pack. yellow colour 3kg packet (Gyprock)	30	375	11,250
18	Dentine conditioner	PK of 10 gm	2 nos	200	400
19	Etching gel	Etchant gel based on 37% phosphoric acid, 5 g syringe with 2 canula	6	200	1,200

9					
2	0 Eugenol	Arsenic free. Dental grade- 1 10 ml	1	700	700
2	Flowable Composite B2 SHADE	B2 SHADE Bendable cannula. Triangle finger plate and plunger. A1. File k type 2 no 2 gm syringe — Ivoclar Type		1000	1,000
22	Glass Ionomer cement	Luting type1G C Fuji Type-35g Powder +25g Liquid	2	1800	3,600
23	Glass Ionomer cement	Restorative type high strength posterior Fuji GC type 15g powder, 8 g liquid	10	3200	32,000
24	Gloves	Nitrile Examination- non-rubber box of 25 pairs	1 box	200 per box	200
25	Gutta-percha points	Assorted No: 15- 40 (Diadent/Dentsply type), 1 pkt of 120	3pkts	280 per pack	840

26	Gutta-percha points	2% taper of size 20 5*Single pack-20	3 pkts	280 per pack	840
27	Gutta-percha points	No:25 5*Single pack-25	4 pkts	280 per pack	1,120
28	Gutta-percha points	No:30 5*Single pack-30	1 box	280 per back	280
29	Gutta-percha points	Assorted No: 45 - 80 (Dentsply type), 1 pkt of 120	5 boxes	280	1,400
30	GP points	size 45 P endodontics 1 box 2 80 280	1 Box	280	280
31	Gutta-percha solvent -	Oil of Orange 10 ml	1	150	150
2	Hydrogen peroxide	3% Liquid- 250 ml	1	300	300

33	IRM Intermediate Restorative Material	Dentsply Powder 38 gm + Liquid 14 ml	2	2500	5,000
34	Lignocaine gel	2% - 30 gm tube	10	30	300
35	Miracle Mix	GC Pack of 17gm alloy powder 8 ml (10g m) liquid	2 pkts	4700	9,400
36	MTA	- Fast set- Repair material: Pack of 1 gm powder, 5 ml liquid	1	2400	2,400
37	MTA	Root and Pulp treatment material: Pack of 1 gm powder, 5 ml liquid	2	2400	4,800
38	Maxillary Expansion Screw	Standard Green Screws for upper- 14 mm (pkt of 10)	l pkt	1250	1,250
39	Maxillary Expansion Screw	Standard S crews for upper-11 mm (pkt of 10)	1 pkt	1250	1,250

40	McIntosh sheet	Red/green, thick,	1 roll	1600	1,600
41	Opaquer	(Fluoride releasing) for masking discolorations, staining and metal colour 2 gm	1	2000	2,000
42	Polishing bur	Yellow ring (thin, tapered fissure, round tip)	5	60	300
43	Paper points	Assorted 15- 40- Set of 20 0 paper points	3 boxes	300	900
44	Pit & Fissure Sealant	(Embrace wet bond like) Syringe of 3 ml- natural shade	2 syringes	3200	6,400
45	Resin-modified glass ionomer cement-	Shofu Resin glass Cement type- Hybond, Resin glass Shofu Type Pack of 45 g	1 pkt	3200	3,200

40	Stainless steel w	(Wire SS- Konark) Gauges 21- Round, hard	s spools	25	250
4	7 Stainless steel wit	re (Wire SS- Konark) Gauge 19- Round, hard	10 spools	25	250
48	SS crown	deciduous upper right first molar size 04-D4 – 3 M type 1pkt of 2 crowns	2 crowns	700	700
49	SS crown	deciduous upper right first molar size05-D5 1 no	1 pkt of 2 crowns	700	700
50	SS crown	deciduous lower right first molar size03-D3 1 no	1 pkt of 2 crowns	700	700
51	SS crown	Deciduous lower right first molar size 06-D6 1 no	· 1 pkt of 2 crowns	700	700
52	SS crown	Deciduous lower right second molar size 04- E4 2 nos	1pkt of 2 crowns	700	700

53	SS crown	Deciduous upper left first molar size 04-D4 1 no	1pkt of 2 crowns	700	700
54	SS crown	Deciduous lower left first molar size 03-D3 1 no	1 pkt of 2 crowns	700	700
55	SS crown	Deciduous lower left first molar size 04-D4	1pkt of 2crowns	700	700
56	Sodium Hypochlorite	3 % for root canal irrigation, 450 ml	1	180	180
57	Separator	Small- Latex-free separators- pack of 700	1 pk	600	600
58	Silk - Dental Suture Material	5-0, 16 mm length, 3/8 circle reverse cutting non-absorbable suture material-Packet of 12	2 pkts of 5-0	600 per pack	1,200
59	Silk	Dental Suture Material Packet of 12	2 pkts of 4-0	600 per pack	1,200

60	Vicryl	5-04-0, 16 mm length, 3/8 circle reverse cutting non-absorbable suture material, 16 mm half circle absorbable suture material-Polyglactin 910 violet suture material. Packet of 12.	1 pkt	3700	3,700
61	Vaseline/Petrolatum	White, clear type -50 gm jar	5	20	100
62	Wax	Modelling - Red sheets- Pack of 12	2 pkts	85	170
63	Zinc oxide eugenol powder	Arsenic-free temporary filling material used in conjunction with eugenol 110 gm bottle	2	150	300
64	Imported Mouth Mirror	Mirror with Handle A PI type	50	240	12,000
65	Band pusher	Mershon band pusher	1	750	750

	Total				164615/-
59	Cotton drum	(Surgical drum) Stainless Steel Size 14*10 cm	1	2000	2,000
68	Gutta-percha cutter	Gutta-percha cutter unit with 1 Gutta-percha cutter hand piece, 1 Gutta-percha charging stand, 4 interchangeable tips	1	1700	1,700
67	Separating module plier	Stainless steel separating module plier	1	1600	1,600
66	Band remover	Stainless steel posterior corthodontic band remover	1	1900	1,900

(One lakh sixty four thousand six hundred and fifteen only )